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BER A = O+ 4 H/2 + cos(HJ1#A/180 * pi)
invad = tan( JE 1 /1/180 s pi) — FE /1 £/180 s pi
nbl = pi/ 55k - YRR/ (2 = S HEFAEAR) - invad
WrFL s B = KAR/2 - BRI
ry = K4%/2 +0.02
For i =1To2 % 4}BEH + 1
ay (i) = Arccos ( FE[R 12/ 1y)
invay(i) = Tan[ ay(i) ] —ay(i)
ny(i) =nbl + invay(i)
xx(i) =ry # Sin(ny(i))
xy(i) =ry * Cos(ny(i))
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Next i
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Call [F.0 AR R (xx (1) ,xy (1) ,xx(2) ,xy(2) ,xx(3),xy
(3) ,yhal ,yhbl)

R 1.2, 3 50 5E 180 A bR

yhrl =Sqr( (xx(1) —yhal) ~2 + (xy(1l) - yhbl) ~2)
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yhi2 =Sqr( (xx(1) —yha2)*2 + (xy(1) - yhb2)"2)

Call PRIEIAH A I 19 U 5 4 45 (0,0, JT H K422, yha2,
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cenxu = cenxu&" 3 5 T B/NEAZ S AR FR" &vbCrLf

Textl. Text = cenxu

KK =Tan[ (90 — 5/ ff) * pi/180]

KC=xy( /B8 «2 +1) = KK # xx (/0B «2 +1)

Call HESBRIMAL y HRAAE AR (0,0, T H/NE/
2,KK,KC,aa,bb)
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Public Sub [5-5 W[5 A1 P4 U1 49 1500 A2 45 (al b1, 1l a2,
b2,12,13,a,b)

k=(rl =13)2 = (12 =13)"2 + 222 —al2 + b22 — b1~2

Kl =k/(2#a2 -2 %al)

K2=(2#b2-2%bl1)/(2%a2 -2 %al)

k3 =k272 +1

k4 =2 % al %« k2 —2 = k1l % k2 —2 = bl

kS =k12 =2 al %kl +al?2 +b172 = (rl —13)2

b= ( —kd—Sqr(kd2 —4 % k3 % k5)/(2 % k3)

b=( -ké + Sqr(kd2 -4 %13 #k5))/(2 % k3)

a=kl -k2=b

End Sub

(6) Wit e R A iz Sl Lkt

A FAGOR 8055 il e 22 G 44 ] i K4 A6 i s PR
B HE AR A ], X 0 56 16 % 114 32 2l B3 HEAT B0
— ROk UL, W AR A B N BB AL T 5 TAE
BRI LA 90° 7K A & T LASE — 22 i
Xof F SR AR SES BB L 1 A b 28 T e 78 4, T R



98

X' = Xcos@ + Ysing
Y’ = Ycos — Xsinf
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kl = - (qx2 —ya)/(qy2 -yb)

z1 = = Abs(An((qy2 —yb)/(qx2 —ya)) ) "I+ H &N
i HAR AR

z1 =Format(z1 * 180/pi," 0. 000" ) HU 3 5 4 ¥ Ji. B 4%,
Horp/10 SAHURERIN B E Y i

qzl = - Abs(Atmn( (qyl —yb)/(qxl -ya)))

qzl = Format( gzl * 180/pi,"0.000" )

PILR y = qy2 + 2" W5 YIS AME 2mm [ X AR

de =qy2 - (kl * gx2)

DIk x = (M1 y) —de)/kl

Y12 x = Format (H)£% x,"0.000")

Y1k y = Format ()4 y,"0.000")

qx2 = Format( gx2,"0.000" )
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qxl = Format( qx1,"0.000" )

qy2 = Format( qy2,"0.000" )

qyl = Format(qyl,"0.000" )

Text4. Text = Format( qy2 *2,"0.000" ) fb %5 it 5 /NI
it R

If AMHE 58 <2+ qy2 Then' Wy BT 048 J5 B2 I 75 16 2 22
R

MsgBox " h46 5 BE 1 2%, W e B E PR b4 (A", 48,
RER"

Text8. SetFocus

Exit Sub

End If

cenxu = cenxu&vbCrLf&" N200" & " GOG9OU" & Format
(x(2*47BE+2) +2,"0.000" ) &" F1200"
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cenxu = cenxu&vbCrLf& "" &" V" & Wbt 55/2 +1 &" C"
& -z1
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cenxu = cenxu&vbCrLf& ""&"G41U" & P&k x & "V" &
Dk y

cenxu = cenxu&vbCrLf& "" &" GIU" & gx2 & "V" & qy2
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